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Addition with regrouping

REGROUPING TENS

Add 60 and 70.
sTEP I Add the ones.

+ 710 Jil
0

0 ones + 0 ones = 0 ones

60 + 70 = 130

Fill in the blanks.

B 9+1= g 9+4= 1% 9+7= 16
%90+10=Lg 90 + 40 = /30 90 + 70 = |
S i |
§30+2— 11116_ 9+8= 9+8=
5 +20= 110 90 + 50 = 90 + 80 =
= ¥F 6= . 9+9=
90 + 30 = I
NPT —~:~:--»---...,.. \ 90 ) 60 = 90 + 90 —

Find 55 + 60,
STEP I Add the ones,
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13 tens need to".

" be regrouped
as 1 hundred
~and 3 tens, -

STEP 2 Add the tens.

6 tens + 7 tens = 13 tens
= 1 hundred + 3 tens

ENRICHMENT ACTIVITY

STEP 2 Adq the tens.

= 1 hundreq + ten
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Add the lowers,

~ HOTS question
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64 + 60
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70 + 80

EXERCISE 6.1

Add.
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REGROUPING TENS AND ONES
Add 78 and 67.
STEP 1 Add the ones.

8 ones + 7 ones = 15 ones
=1 ten + 5 ones

78 + 67 = 145 L(

EXERCISE 6.2
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sTEP 2 Add the tens. ' as 1hungp,
- Ateng

tens

1 T RGN ...

2o Il

N 1 5 “"“R;‘“?ouped -

1 ten + 7 tens + 6 tens = 14 tey
= 1 hundred + 4 tens

.

Find the sum.
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ApDITION OF 3-DIGIT NUMBERS
;\dd 130 and 347.
o1eP | Add the ones,
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0 ones + 7 ones = 7 ones

STEP 3 Add the hundreds.
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1 hundred + 3 hundreds = 4 hundreds

Add them correctly.
a. 450 and 3
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STEP 2 Add the tens.

3 tens + 4 tens = 7 tens

130 + 347 = 477 (>

b. 742 and 54 c. 48 and 6 d. 342,20 and 6
i = ~ GET IT RIGHT! 3 k. 5\
/v’ 4 5 0 4 5 0 4 50
\ o+ 3 + 3 x + 3
41 5 B3 75 0 4 5 3
J
b B G ~ GET IT RIGHT! —
/ i 4 B 7 4 2
+ S ¥4 + 5 4
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78 9 B6 1 2 8 2 _
---------------------------------------- 97
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